=
o
N

(I
o

=

1000/0 2do)/d(m_1 + m_2) [1/GeV]

=
<
I

1072

Ratio to CMS
[N

0.5

7000 GeV pp

W+Jet

Filtered jet mass(CA(1.2), 150<p_<220, |y|<2.5)

B CMS

--0O-- Herwig++ 2.6.1a default
--{4-- Herwig 7.2.1 default

4
4
7
7
.@I
P
P
2
2
P

¢
¢

F-—-l

,E—I Q i .
e
- _ 1l -
B---g--- a
RS W
o~ e
’ 1 “ 0 1
\ " !
. | 1
77 AN ’ - \
7" \ ’ i
N 2 L 3
2 N
” N I -
& N [ —
WO
W
— \ —]
7 ! i
s - YWl
‘ \
’ |
— S yl —]
! )
S
- ¢ ! —
;o
D/
) |
¢ 7 |
- ’ / | |
v [7 L
‘ .
p ’
, 1
| Lz 1 1 1 . | . 1 1 1 1 . | . 1 1 1 1

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


